cmatic

PNEUMATIC FITTINGS

RA LINE

H R R AR R
Brass Nickel-Plated Standard Fittings

RARFIE EHIAJI 2 M S PR dK" R 5, RIRGUGRIRL , B

ek K, BB, LEMESL, TEESL, +FELAR,

«zgﬁiﬂiﬁiﬁ%ﬁﬁaiﬂ’ﬂ%ﬁﬁﬁbﬂlﬁﬁ  RBEXRRIGEBHNETR
I o

RARFIFTEEAM AN BAL T HRERELE,

The RA line, also known as the “Accessories line” or the “Standard Fitting line”
consists of a wide variety of components, such as Nipples, Reduction pieces, Con-
nections, Plugs, Hose connections, L-T and Cross Fittings.

Due to the multiple auxiliary functions of this line, the RA Fittings are the right
complement for other ranges.

All components are brass nickel-plated.



e — e

LA HHE
Fitting Body Seals
45 48 EARUNI EN 12164 CWB14N - UNIEN 12165 CWB17N NBR
Brass UNI EN 12164 CW614N - UNI EN 12165 CW617N Nickel Plated NBR

@« 3

-40°C-150°C & K60 bar

@ ° ° ° ° ° °

Mb5x08 G1/8  G1/4 G3/8 G1/2  G3/4

G1" R1/8 R1/4  R3/8 R1/2

R3/4

R1"

R
R, WEMBERS.

Application fields:
Pneumatic, hydraulic and oleodynamic circuits.

164




BEIRGUREL Nipple, parallel
o el D1 D2 L1 L2 L3 CH g &0
11 M5 M5 M5x0.8 M5x08 5 5 135 8 2
‘ 11 M518 M5x0.8 G1/8 5 6 155 14 8
| ‘ :[ 111818 G1/8 G1/8 6 6 165 14 8
oo ‘ 111814 G1/8 G1/4 6 8 19 17 145
= S 111838 G1/8 G3/8 6 9 20 19 19
\ s[ 111414 G1/4 G1/4 8 8 21 17 16
111438 G1/4 G3/8 8 9 2 19 21
02 111412 G1/4 G1/2 8 10 235 24 32
113838 G3/8 G3/8 9 9 23 19 2
113812 G3/8 G1/2 9 10 245 24 35
111212 G1/2 G1/2 10 10 255 24 35
IR Nipple, taper
D1 E$il D1 D2 L1 L2 L3 CH g &2
121818 R1/8 R1/8 75 75 20 12 8
121814 R1/8 R1/4 75 1 235 14 12
- 121838 R1/8 R3/8 75 15 24 17 20
121414 R1/4 R1/4 1 11 27 14 175
o LT T 121438 R1/4 R3/8 1 15 215 17 20
121412 R1/4 R1/2 1 14 31 22 38
o 123838 R3/8 R3/8 15 115 28 17 23
123812 R3/8 R1/2 15 14 315 22 40
121212 R1/2 R1/2 14 14 34 2 44
D2 121234 R1/2 R3/4 14 165 375 27 69
123434 R3/4 R3/4 165 165 40 27 78
123/41" R3/4 R1" 165 19 425 34 12
121"1" R1" R1" 19 19 455 34 128
L2 Joint Piece
RE D1 L1 CH g4
1300 M5 M5x0.8 11 8 2
130018 G1/8 15 14 10.6
_ 130014 G1/4 22 17 187
- 130038 G3/8 23 22 345
130012 G1/2 28 26 484
130034 G3/4 32 32 78
13001" G1" 35 38 100
HIRSUR R IEL Taper Female-Male Reducing Connector
o RE D1 D2 L1t L2 CH g 42
o 141814 G1/8 R1/4 1 16 14 106
141838 G1/8 R3/8 15 165 17 20.7
T ] 141812 G1/8 R1/2 14 195 2 329
N 141438 G1/4 R3/8 115 165 17 126
- - 5 141412 G1/4 R1/2 14 195 22 29.4
143812 G3/8 R1/2 14 195 2 233
143834 G3/8 R3/4 1 175 30 54
D2 141234 G1/2 R3/4 16.5 235 27 45
14121" G1/2 R1" 19 27 34 132
14341" G3/4 R1" 19 27 34 104

165




ESRGUR 1K

CH

L2

HIRG RSN FIEL

L2

CH

ESRG AL

+
L

B

L1

Parallel Female-Male Reducing Connector
RE D1 D2 L1 L2 CH RRAY
15 M5 18 M5x08 G1/8 6 105 14 8
D1 151814 G1/8 G1/4 8 13 17 10
151838 G1/8 G3/8 9 14 19 19
151812 G1/8 G1/2 10 155 24 38
1514 38 G1/4 G3/8 9 14 19 13
5 151412 G1/4 G1/2 10 155 24 32
S 153812 G3/8 G1/2 10 155 24 2
1538 34 G3/8 G3/4 " 17.5 30 54
D2 151234 G1/2 G3/4 1 175 30 4
15341" G3/4 G1" 15 185 36 60
Adaptor Male-Female, taper
A D1 D2 L1 L2 CH g 62
161818 R1/8 G1/8 8 18 14 13
D2 161814 R1/8 G1/4 8 215 17 18
161838 R1/8 G3/8 8 225 22 31
] 161414 R1/4 G1/4 1 245 17 22
161438 R1/4 G3/8 1 255 22 42
- 161412 R1/4 G1/2 1 29 24 40
L = 16 38 38 R3/8 G3/8 115 26 22 42
163812 R3/8 G1/2 15 295 24 40
161212 R1/2 G1/2 14 32 26 57
D1
Adaptor Male-Female, parallel
Eiil D1 D2 L1 L2 CH g 40
17 M5 18 M5x0.8 G1/8 4 14.5 14 7
D2 _ 171818 G1/8 G1/8 6 16 14 13
L 171814 G1/8 G1/4 6 195 17 17
171838 G1/8 G3/8 6 205 22 30
171414 G1/4 G1/4 8 215 17 19
171438 G1/4 G3/8 8 225 22 32
=] 171412 G1/4 G1/2 8 26 24 37
173838 G3/8 G3/8 9 235 22 36
. 173812 G3/8 G1/2 9 27 24 37
171212 G1/2 G1/2 10 28 26 43
Reduction Joint Piece
Egi] D1 D2 L1 CH g &0
18 M5 18 M5x0.8  G1/8 135 14 10
2z 181814 G1/8 G4 19 17 18
181838 G1/8 G3/8 20 22 36
181438 G1/4 G3/8 225 22 4
181412 G1/4 G1/2 26 24 46
183812 G3/8 G1/2 26 24 46
1812 34 G1/2 G3/4 30 32 76

166



EIRGUE L Parallel Plug
RE D1 L1t L2 CH g 42
1900 M5 M5x0.8 5 85 8 2
CH 190018 G1/8 6 10 14 75
190014 Gl/4 8 13 17 135
~ 1900 38 G3/8 9 135 19 18
= 190012 G1/2 10 15.5 24 31
190034 G3/4 11 16.5 30 50
o1 19001" G1" 13 19 38 76
HIRGUE K Taper Plug
il D1 L1 L2 CH g 62
430018 R1/8 15 6 5 3
cH 430014 RI/A 1 8 6 8
S 430038 R3/8 115 8 10 14
- S[ 430012 R1/2 14 95 10 27
> 430034 R3/4 155 10 14 52
43001" R1" 175 15 17 80
D1
MIREUE K Female Plug
Egid] D1 L1 CH g 62
CH 200018 G1/8 10 14 9.6
2000 14 G1/4 135 17 167
_ = 200038 G3/8 14 20 213
= 200012 G1/2 165 24 313
2000 34 G3/4 185 30 52
20001" G1" 20 38 98
D1
RIRLGE A kgL Female Elbow
Egid] D1 L1 CH g &2
o L 211818 G1/8 185 10 15
- 211414 G1/4 25 12 2%
213838 G3/8 255 15 44
a 211212 G1/2 30 19 73

L1

D1

167



RIMRLE AR

Male-Female Elbow

MR =B EL

CH

L1

MIMRLG = Bk

L2

ETHERMRE =B EL

13 RE D1 D2 L1 L2 L3 CH g 62
221818 R1/8 G1/8 8 17 185 10 12,5
221414 R1/4 G1/4 1" 215 225 12 235
223838 R3/8 G3/8 15 245 255 15 M
221212 R1/2 G1/2 14 295 30 19 7
223434 R3/4 G3/4 17 345 355 22 126
211" R1" G1" 19 405 405 28 212
Female Tee
= Fiil
U il D1 L1 CH g 62
231818 G1/8 18.5 10 21
a 231414 G1/4 225 12 36
233838 G3/8 255 15 61
231212 G1/2 30 19 98
D1
Male-Female Stud Tee
cH 13 RE D1 D2 L1 L2 Ls CH RRAY
241818 R1/8 G1/8 8 17 185 10 19
_ 241414 R1/4 G1/4 11 215 225 12 34
24 38 38 R3/8 G3/8 15 245 255 15 58
o 241212 R1/2 G1/2 14 295 30 19 %
243434 R3/4 G3/4 17 345 355 22 178
241" 1" R1" G1" 19 405 405 28 304
D1
Male-Female, Lateral Tee
Egi] D1 D2 L1 L2 L3 L4 CH g &b
251818 R1/8 G1/8 8 17 185 355 10 19
251414 R1/4 G1/4 11 215 225 44 12 34
253838 R3/8 G3/8 1.5 245 255 50 15 57
251212 R1/2 G1/2 14 295 30 59.5 19 96

168



IR+ F ik Female Cross
L E$il) D1 L1 CH g 60
261818 G182 10 41
261414 G1/4 255 13 66
263838 G3)8 28 17 112
=
D1
RA 27
RANRLE & 3k Male-Female Elbow
KR D1 D2 L1 L2 S g 62
0 S 21M5 M5 M5x08 M5x08 5 10 g 6
‘ 271818 GI/8 G186 14 13 14
i _bi / \ 271414 G1/4 G1/4 8 20 18 40
I
‘{ | e K /
L2 L1
RA 28
R AMRE = B L Male-Female Stud Tee
HKH D1 D2 L1 L2 S g 62
D2 S
‘ 28 M5 M5 M5x08 M5x08 5 55 9 5
) i 281818 G/8 G186 75 13 6
—bi_ G\ 281414 GI/A G4 8 1 18 3
I e N e
‘ \
1
L2 L1
7 BEHE Manifold, 4 ways
U S Eid] D1 L1 L2 L3 d S g &2
L2 L3 290018 G1/8 25 17 4 45 16 18
290014 G4 40 26 7 55 20 64
2 29 00 38 G3/8 50 34 8 515} 25 125
290012 G1/2 50 34 8 55 30 138

L1
D1
I
|
L2
|

169




o B HE Manifold, Single
Egil D1 D2 N L1 L2 L3 L4 L5 s g 60
u 291418 S3 G1/4 G1/8 3 45 18 18 72 30 20 86
291418 S4 G1/4 G1/8 4 45 18 18 0 30 20 110
s 291418 S5 G1/4 G1/8 5 45 18 18 108 30 20 130
29381483 G3/8 G1/4 3 85 22 24 92 40 25 184
293814 S84 G3/8 G1/4 4 8.5 22 24 116 40 25 238
293814 S5 G3/8 G1/4 5 8.5 22 24 140 40 25 298
- FoEALAB AR - Alu body, not anodized
RA29D
2 B HE Manifold, Double
E$il D1 D2 N L1 L2 L3 L4 Ls s g 62
L4 291418 D3 G1/4 G1/8 343 45 18 18 72 30 20 81
291418 D4 G1/4 G1/8 4+4 45 18 18 90 30 20 100
s 291418 D5 G1/4 G1/8 545 45 18 18 108 30 20 122
293814 D3 G3/8 G1/4 3+3 8.5 22 24 92 40 25 170
293814 D4 G3/8 G1/4  4+4 85 22 24 116 40 25 216
5 29 38 14 D5 G3/8 G1/4 545 85 22 24 140 40 25 266
FoEALABZRE - Alu body, not anodized
Hose Connector
RE D1 D2 L1 L2 L3 CH RRAY
3003 M5 3 M5x0.8 5 9 17 8 2
3035M5 35 M5x0.8 5 9 17 8 2
3045M5 45 M5x0.8 5 9 17 8 2
307518 15 G1/8 6 20 30 14 105
307.514 15 G1/4 8 20 33 17 17
308518 85 G1/8 6 20 30 14 "5
309518 95 G1/8 6 20 30 14 M
309514 95 G1/4 8 20 33 17 18
309538 95 G3/8 9 20 34 19 2
3012514 125 G1/4 8 2 33 17 21
3012538 125 G3/8 9 2 34 19 24
3012512 125 G1/2 10 2 38 24 38
3017538 175 G3/8 9 24 38 19 38
3017512 115 G1/2 10 24 395 24 43
Nut
Egid] D1 L1 CH g &2
310018 G1/8 45 14 4
cH 310014 G1/4 5 17 5
B 310038 G3/8 55 19 5
B 310012 G2 6 24 8
3100 M10x1 M10x1 4 14 3
D1 3100 M12x1 M12x1 5 16 5
3100 M14x1 M14x1 5 18 55
3100 M16x1 M16x1 5 20 6
3100 M20x1.5 M20x1.5 4 27 105

170



HIRLE L Male-Male Elbow
e D1 D2 L1t CH g 62
L1
351818 R1/8 R1/8 17 10 105
351414 R1/4 R1/4 215 12 21
353838 R3/8 R3/8 245 15 37
351212 R1/2 R1/2 295 19 68.5
353434 R3/4 R3/4 345 22 100
351" 1" R1" R1" 405 28 174
SR TR 3L Male Tee
il D1 D2 L1 L2 CH g 62
L 361818 R1/8 R1/8 17 34 10 14
‘ 361414 R1/4 R1/4 215 43 12 29
363838 R3/8 R3/8 245 49 15 51
S . . 361212 R1/2 R1/2 295 59 19 925
363434 R3/4 R3/4 345 69 2 134
- 361" 1" R1" R1" 405 81 28 236
CH
D1
RA 38
RGO R E L Elbow Reduction Male-Male
L4
CH u 3] D1 D2 L1 L2 L3 L4 CH 942
381814 R1/4 R1/8 1 8 19 215 10 17
I b
g[ |
1
D2
B R EEL Extention Male-Female
Egid] D1 D2 L1 L2 CH g &2
01 391822 G1/8 GI/8 6 22 14 15
391842 G1/8 G186 2 14 30
CH—E 391435 G1/4 G4 8 35 17 32
391451 [ 51 17 48

L1

L2

17




AR LY B sk Female Y
a0° i) D1 L1 L2 L3 CH g 40
400018 G1/8 8 12 14 13 18
) 400014 G1/4 11 14 17 17 33
& 400038 G3/8 115 16 19 20 44
400012 G1/2 14 19 245 25 93
~ CH | -
D1
R SNR LY B4k Male Female Y
90°
il D1 D2 L1 L2 L3 CH g 62
Y ° 410018 R1/8 G1/8 8 16 14 13 22
< 410014 R1/4 G1/4 1 20 17 17 38
410038 R3/8 G3/8 15 22 19 20 53
. 410012 R1/2 G1/2 14 27 245 25 108
S cH
| par)
|
I
D1
BiEEL AL Single Banjo Ring
B3l D1 D2 D3 L1 L2 g &2
42 00 M5 5.1 Mb5x08 9 1.5 10 7
4200 M5 /R 7 M5x0.8 9 115 10 6
420018 10 G1/8 14 16 15 15
420014 13.2 G1/4 17 22 17 25
. o s 420038 17 G3/8 20 26 20 40
420012 21 G1/2 26 32 24 66
‘ =1 F R E R TTEF - For flow controls only
D1
RA 44
ZFEARIESL Bulkhead Connector
Egi] D1 D2 L1 L2 L3gAx CH1 CH2 g &2
L3 &K
CHZ - ey CHI 4400 M5 M5x05 M10x1 105 14 7 14 14 12
\ 440018 G1/8 M16x15 14 18 8 19 22 29
— 440014 G1/4 M20x15 21 25 13 24 27 48
4400 38 G3/8 M26x1.5 21 26 13 30 32 91
& 440012 G1/2 M28x1.5 27 33 19 32 36 112

L1
L2

172



MSNRGIE TR 4k

HORBINL

MIMRGIE TR F K

L4

PAGZE K| B

%]

Male-Female-Male Tee
e D1 D2 L1t L2 CH g 62

L2 451818 G1/8 R1/8 185 34 10 16.5
451414 G1/4 R1/4 225 43 12 31
453838 G3/8 R3/8 255 49 15 54
451212 G1/2 R1/2 30 60 19 955
Male Plug with ORing
Bl D1 D2 L1 L2 L3 CH g 62
460018 G1/8 14 65 95 55 5 55

D2 460014 G/a 17 8 1.5 6.5 6 1

CH 460038 G3/8 20 9 125 6 8 185

| 20°C. - 80°C. 460012 G1/2 26 10 14 7 10 33

1

D1
Male-Female-Male Tee
KH D1 D2 L1 L2 L3 L4 CH g &2
471818 R1/8 G1/8 8 17 185 355 10 16.5
471414 R1/4 G1/4 n 215 225 44 12 31
473838 R3/8 G3/8 15 245 255 50 15 54
471212 R1/2 G1/2 14 295 30 59.5 19 9%
PA6 Sealing Ring
El] D1 D2 S R
9400 M5 5 8 1.2 0.08
940018 99 139 1.8 0.19
9400 14 131 179 1.8 0.28
940038 16.8 214 18 0.31
940012 21 254 2 0.42

O

-20°C - 80°C

173




PAGZE R 2

PA6 Toothed Sealing Ring

RE D1 D2 S g 42
Dz 9500 M5 5 8 12 0.08
H 950018 99 139 18 0.19
o, — 9500 14 13.1 179 18 0.28
9500 38 16.8 214 18 0.31
vc.gee 950012 21 254 2 0.42
RA 96
R ERE Aluminium Sealing Washer
il D1 D2 S g 42
01 96 00 M5 5.2 9 1 0.1
] 960018 10.3 14 15 0.25
] n 9600 14 135 18 15 0.42
96 00 38 17 22 15 0.54
Svc.gee 960012 215 27 15 0.7
PTFEZH2E PTFE Sealing Ring
Bl D1 D2 S g 62
2L 970018 99 14 2 0.25
N ——— 970014 13.1 18 2 0.42
970038 16.8 25 2 0.58
e 970012 21 255 2 0.75
RA 98
EREZEHE Bonded Seal
B3t D1 D2 S g &2
980018 104 147 12 0.6
9800 14 1385 187 12 0.77
9800 38 1735 227 12 1.10
980012 2165 267 12 1.20
980034 273 326 12 1.50

-20°C - 80°C

174



EHE R =R E

Bonded Seal, self centering

B3l D1 D2 RRAY
99 00 M5 5.7 9 0.24
990018 10.37 15.88 1.59
990014 13.74 20.57 2.66
99 00 38 17.28 23.80 3

99 00 12 21.54 28.58 5 457
9900 34 27.05 34.93 5 6.80






